5.45

Soupovpe aplOun T Xf (ZX) _f (_X)T”,l(3X)
. xf (2X) —f (—X)nu(?,x) KOLTOPOVOLOGTY PE X2 ) X2
A=lim 5 > = lim 5 5
x—0 2X —MUx x—0 2X —MNux
X2
Xf (2X)_f(—x)nu(3x) f(2x)_f(—x)_nu(3x)
Zz 2
=lim—X X =lim—X X X =
x>0 2 %7 _ne’x X0 9_ M’x
XX X’
|im0 f(2x) B Iirrg f(—x) . Iirrg np(3x)
— X X - X (1)
2—lim X
x—=0 X
Opnang
Oétovpe y=2x
f 2 t?n(')rs x:% . f 2f Iimmzz
otav x>0, y—> x=0 X
Iimﬂ = IimM:Iimﬂ = 2:2=4 (2
x—0 X y—0 X y—0 y
2
R
— otav x—0, y—=>0 x>0 X
fim )™ 2 T i f ™
x—0 X y—0 _y y—0 y
molamhactilovpe aplOumT lim M:l
KO TOPOVOLLOOT e 3 x—0 3X
IimM e |im3n“—(3x) 2 3.1-3 (1)

x—0 X x—0 3Xx

"Etotl tehika

(2).(3).(4) —(-2)-
1) = A:LZ)?::



